Review Lessons 6.1 — 6.4 Worksheet Name: Y,EY

Evaluate the expression without using a calculator,
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Solve the equation. Round your answer to two decimal places when necessary.
3,) %% =20 6.) ¥* =10 7) x+5=26 8) (x+3)3=-16
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Simplify the expression. Assume all variables are positive.
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Let f(x) = 4x3/2, g(x) = 2x /3, and h(x) = —6x /2. Perform the indicated operation
and state the domain.
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Let f(x) = 2x + 2, g(x) = x2, and h(x) ——. Perform the indicated operation and state
the domain.
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Find the inverse of the function. X =¥ ﬁ
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Verify that fand g are inverse functions.
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Graph the function f. Use the horizontal line test to de%ine whether the inverse of fis a

function. Then graph the inverse of f.
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